V

DISCLOSED TO ANY PERSON EXCEPT TO THOSE HAVING A NEED TO KNOW

THIS DOCUMENT AND THE INFORMATION IT CONTAINS ARE PROPERTY OF
THEM WITHOUT PRIOR WRITTEN CONSENT OF EFFILUX

EFFILUX AND CONFIDENTIAL. THEY SHALL NOT BE REPRODUCED NOR

[4

!

<
—
=
z
O
(%)
hld
w
g
w
=
z
w
a
[V
Z
O
@]
e
z
O
(%]
2
z
w
=
Zz
O
]
=
>
o
(%]
Z
Q
=
<
p=
[24
@)
L
z
(%]
-
i
-
z
w
=
o]
]
O
a
L
O]

PERSONNES AYANT A EN CONNAITRE ET NE PEUVENT ETRE REPRODUITS NI DIVULGUES A

PROPRIETE EXCLUSIVE DE EFFILUX. ILS NE DOIVENT ETRE COMMUNIQUES QU'AUX
TOUTE AUTRE PERSONNE SANS AUTORISATION PREALABLE ECRITE PAR EFFILUX

QUICK INSTRUCTION GUIDE

1-MOUNT THE 2x EFFM-BAUMER ON THE CAMERA
AT THE WANTED WORKING DISTANCE
2-MOUNT THE BRACKET ON THE LIGHT

BAUMER VERISENS XC SERIES

60,1

60,1

50

CAMERA MOUNTING HOLES
AND WORKING DISTANCE ADJUSTEMENT:
4x M4X6 (CHC SCREWS INCLUDED)

LIGHT MOUNTING HOLES:

57

RING: 4x M4X6 (CHC SCREWS INCLUDED)
SDOME/FD: 4x M4X8 (CHC SCREWS INCLUDED)

70
[PLEASE REFER TO THE SPECIFIC DOCUMENTATION FOR WIRING LAYOUT|
2x EFFM-BAUMER CAMERA 1 Rue de Terre Neuve
Mini Parc du Verger
BAUMER VERISENS XC SERIES Batiment E
91940 Les Ulis, France
Designation Mail: sal Ffilux.f
[ALSO INCLUDED: 8x M4 WASHERS all: sales@efflux.tr
= www.effilux.com
R‘;ViSiO” 29ltlljflt2eoz1 Unit: mm | General Tolerances e Fﬁtli.zgtlj_r:hﬁfﬂ
Scal Si P
1| A3 11 | E1® |iso27es-fHE : Lux
[ | [ | | [ v | [ [ [ [ [ [ [ T
G F ! E D C B A




	Feuille1
	Vue de mise en plan1
	Vue de mise en plan2
	Vue de mise en plan4
	Vue de mise en plan5


